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Note:  First 15 minutes are allotted {n: the candidates to read the question paper.
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Instructions :
1}  All questions are compulsory..™
Question Nos. I to 10 are Mﬁ@,ﬂ!& Choice Type. Question Nos. 11 w0 20 are

Very Short Answer Type, v.fhif;h are to be answered within 30 words each.
Question Nos. 21 to 26 are Short Answer Type, which are to be answered
within 100 words each and Question Nos. 27 to 30 are Long Answer Type

i)

which are to be solved.

1)) Marks to each question are indicated against it,

( T forehedta w9 )

( Multiple Choice Type Questions )
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8. fr i & 3w ¥ faca fawo 1 wm T@ R ?
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9. = ® agEsM U TG § ? -
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Select the correct answer and write it in yo@f%nswer-bmk :

1. For the firm, interest on partner's drawing is a/an

i)  Expense iij Loss i) Income iv) None of these 1
2. The excess of average profit over the normal profit is c:a]led

i)  Superprofit i) Fixed profit

iij Normal profit iv) Abnormal profit 1

3. Profits of the last three years were Rs. @OO, Rs. 13,000 and Rs. 8,000 respectively
Goodwill at two years' purchase of the gv‘;lbrage net profit will be

) Rs. 27,000 i) Rs. 81,000 I\ iii) Rs. 9000 iv) Rs.18.000 |

4, : '
Revalyation gains and losses are carriedat the time of retirement
i . {
.).. BY the remaining partners ) By all the partners |
i} B 1
) By the new partners * Iv)  None of them ] l
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s On dissolution of 8 firm, the ﬁ“f“ hi@cc of Capital Account is transferred to
)  Realisation A/C N i) Profitand Loss A/c
i)y CashA/c % iv) Loan A/c of partners !
6. A company has
i) Separate legal entity i) Perpetual en tity
jii) Limited liability V) Allof these 1
7 Zero coupon bonds are issued
i) At zero rate of interest 2 i) With specified rate of interest
iiij Without specified rate of interes“f\‘l iv) None of these 1
8. Which of the following is not a part naancial statement of a company ?
1)  Profit and loss statement . ii) Balance sheet
i) Ledger Account iv) None of these 1
9. Which of the following is not a profitability ratio ?
1) Gross profit ratio | 1) Net profit ratio
m1)  Operating ratio e iv) Current ratio I 1
10. Cash flow statement is prepared from—
i)  Balance sheet ::s 11) Profit and Loss account
iil) Additional information éi iv) All of these 1
( a&ri%aﬁ“mﬂum ) |
( Very Short Answer Type Questions )
11. Higer gehE # guImnRT | 2
11, Explain Partnership deed. 2
12. Freerlt Qs forfag 1 2
12. Write any two characteristics of partmership.
3. ST ) o 3 ) et s Ry 9 AR
13. Explain any one method of catculatioiif interest on drawingé. 2
14, TR W F iR A e 2 e 2
14. What is meant by reconstitution of partnership firm ? 2
L/2094 ,
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16. WA 37y ) o AATT | N
tics of eq4!

e % S |

16. Write tyo characters
17, Wi & g 8

17. State the types of debenture
18, et foe & & e ferkal |

18. Write two obj&ctives of financial statem@t.

s from the point of view of convertibility.

~J

19, A favehew A 1 3 8 7 N
. )

19. What is meant by Ratio Analysis ? S\j

0. e et g s sty ¥ A FaE Rifa |

20. Write two examples of cash inflows by {inancing activities.,

(oY A I )
( Short Answer Type Questions )

21. mm%mmwwﬁaﬁwaﬂﬁﬁﬁﬁﬁﬁmmr

21. Explain the method of calculation of Goodwill on the basis of superprofit.

22. T TR S0 % o ) i o et 1 i w6 R o @ 7

22. Why are the assets and liabilities of ﬁrlrﬁ?revalued on the admission of new partner

23. a3 3% Rl Bt R i |

23. Discuss the types of Preference shares,

2. ﬁsﬁmﬁqéaﬁaﬁmmﬁﬁmwﬁl

25, 1 % 05 3 % v e ?1:151 Publj company.

- N
. i

%5. Explain the types of debentures from tﬁ?}ae

SAN

26.%%WWHWWI

26.

Curs: .
Y point of view.

Give ;
* Specimen of vertical form of Bal
L/2094
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( Long Answey Qypg Questions )
. ﬁ,;ﬁaﬁtﬁm‘aﬁm: 4:3:2.0% s A afzd 2 | 31 7, 2024 F ATHET

- & % H g .
ﬁmaﬂmlﬁm R w1
" {‘Tﬁhﬁﬁag;%xé,zozﬁﬁ

— LE N B KL
|
(%0) (%0)
g - —-4-_ —_— ————— — -
T 1,20,000 | &= # V%3 8,000
pup 20,000 | gy e 40,000
gt - L Z AL 1,40,000 |
{ u 80,000 | e 92,000
@t 1,20,000 2,00,000 w;aﬂ
l | i < 40,000 |
- 20,000 60,000
r | 340,000| . 3,40,000

' " - —
T A @ el B g Ged F1 90% e g | @i Fo 78,000 W = A HH |
$0 2.000 1 3eT T W, N I f § wefifa +¢ a1, IHE T | THEA F T Fo 6,000
g | Rearfern @ ot 588 Fawt %o 32,000 & T T Fh | TR & T T HEE AT

I | g @1 UE qTRieRi & {eft @id SR | 5 + 5
. gy

Rt Bren & EHT TV T AU IFH T W H-H T I A E 7R
f—’rqatl%ﬁﬁm"mamé? Y : 4 + 6

27. A, B, C and D share profit and loss in the ratio of 4 : 3 : 2 : 1. The partnership was
dissolved on 31st March, 2024. The firm's balance sheet on this date was as

follows :
_ Balance Sheet as on 31st March, 2024
Liabilities | Amount Assets [ Amount
B " (Rs. ) - (Rs. )
Creditors I 1,20,000 | Cash at Bank ‘ 8,005
Bills Payable ~ 20,000 | Bjlls Receivable 40,000
Cﬂp;:ais : | Debtors 1,40,000
c 1,22:233 | 2,00,000 ?‘:tgc.k[ _ 72000
yUU, ;.GP““ :
B 40,000 | *
I — <‘\ D 20,000 | 60,000
O ) R Y
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' ~ Stock could be
90% of Book value was realised {from %Is Receivable and Debtors

im. The rule of
B is insolvent and only Rs. 32,000 could be recovered from him

ers’ Capi
Garner vs Murray shall apply. Prepare Realisation Account and Partn pital

.9+ 5
Account.
OR
ttled ?
What problems do arise on retirement @death of a partner ? How are they se
N

28. am Frl fifids 4 WS Fo 1ooﬁ5@0ﬁsﬁmﬂvhqm-afﬂwwruﬁm 20
G T, o somm,sozsmm;mmaﬂwusiﬁﬂ@ﬁﬁlﬂﬂmﬂﬁu‘ét
it a7l ¥ R e @ ww ge | e, PR 50 ofw amaRa Rl &, 3 e 3 T
amaiﬁnmaﬂ@mqﬁﬁw |y @ft uRwrt e B T | e & gl 4 d8 §
st 7 g R otk 7 ol e o7l % w9 § w0 3,000 F R R f |
FA F gl 4 HTEvAS T giafdar i | | 10

i

B TR R e —— 7 F & 3 G = deaw R wpw AR R

AT 2, 37T 9o Hifu |

28. R Co. Ltd. issued 5,000 shares of Rs. 100 each, payable Rs,

Rs. 30 on allotment, Rs25 on first call and Rs. 25 on secon

Applications were received for all

- reiss -
for Rs. 3,000. ued them a5 fiyy

Pass necessary journal entries in the b

% . 10
What do you mean by share capita] of

d Q‘Drnp

- . a_n -
which the share capital of a company is divig y? Expl :
) 1de :

the maj L
d. Main Categories 11

+12094 3+1

|
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Define Debenture. What 18 meant by jgsu€ of

Explain with the help of example.

L/2094
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29. Calculate Current Ratio and Quick Ratﬁ:fmm the following balance sheet : 10
" Balance Sheet of AQC Company Ltd.
( As on 1st Jahuary, 2024 )
- 1 Amou ntb Rt | Amount
Liabilities (Rs. in Lakhs) 1J_{R’s.. in Lakhs)
Equity share capital 10 Lﬂ‘}d. ?
Reserve 5 Building | 5
Preference share capital 5 Plant and Macl:m:mry 8
Debentures 5 Fixtures and Fittings | 2
Long term loans o Cash 1
Baunk loans 3 T Bank g
Creditors 3 O Debtors | °
Bills Payable » - |Bills Receivable
- | -;i Etﬂfk ____ig
-]____,_.-d-""‘"'—_ |
L 40 O | - iR
OR

debentures as collateral secuﬂty P

+4.4.9
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a0, frefeflad gEman @ aREe & %maﬁrﬁi

& S\* %0 |
1 @ 1 g E 1,00,000
g EE R ?,:3 10,000
el o sl 125,000
¥ farai | - 20,000
feriaa 3Ta T &G | 5,000
el ® g 18,000
mef 3= & g S 12,000
| fafr &= @ @ ~ 4,000
' - = o ' 10
Rty Ry’ @ @1 o R 7 TS G ¥ fiq w@d g fafm v & o et
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30. From the following information prepare Cash Flow Statement from the operating
activities :
- _ —
Items Rs.
Net profit of current year = 1,00,000
Transfer to general reserve ;: 10,000
Decrease in debtors : 25,000
Decrease in bills payable :; - 20,000
| Discount on shares written off 5,000
Increase in stock : 18,000
Loss on sale of machine 12,000 r
P_’roﬁt on sale of investment | 4,000
< s . D, S d: 0
~OR
What ?}S meant by 'Financial Statcmzrt‘fts‘ ? Discuss the utility ang significance of
financial statements to various partjﬂii_;ntﬂrﬂst{&d in the business concern. 4 +6
—_—————
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